Algebra2  Bellwork  Thursday, April 30, 2015 B> H-

1. Simplify. Use Absolute Value symbols as needed.
Y12a367¢13 « 4204567
2. Rationalize the denominator.

48w2y7 b) J10 +4
627w x6y13 S5-42

3. Simplify. Assume all variables are positive. Give fractional answers in reduced form.
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4. solve each radical equation.
1 1
a) (5x+16)* = (x+2)? b) JI2—-x +6=x

3
c) x-5)*-6=2



_ N
- @‘%'5 o b

— Lazb(a}c 5;’%

g w"z taf’ 9/53(/652/5"

N /\
-5
s
2'1'73 2/}1,5
H& w7‘37 i/fw}yj
b 9,613 [ =
\[Z"‘”XJ 3 3,05
, 37w N
j;s éL/>
€L &
“\3l°w\ x‘”})
1o +Y A TR
g -2 V5 + (2 c -,
e 10z
5o | (=0
iR 1R B
5

i

il

W’L ”b .
3 x%{,

by Lf37.2ys




@ 2y (( ‘5><+i@)%’>7 :(/\Hz_) 3//:_>L/

Lyt = <X+?~>>_ X=1, ’v%
Sxtll = X =+ +Y |
O = X"y X=Y
6 = )k
D oy tgexee
(‘ I "‘?Zj_);(/&‘ﬁﬁ\>2— X:%g

\7———-7( = XL——-IZV\%Bb

@ = A=) a2Y X/g
“ - (X-&\,./‘X—:?}) !

_clw

-
+

4l
(x5 43"

- (X'G) o= 2



